d®o/ d p™ d m™Ypb/GeV?]

Ratio to ATLAS

[HEN
o
&

|
o
o

T

=
o
4

[EEY

13000 GeV pp tt

T | T T T T T | T T L | T Tt T T T T | 9
c
| top o
= P, (ATLAS semileptonic ttbar) =K
~ 4=
L =
- ai
- i AN
o
| —=
—
™
“u "o EE
— i
5 B
™
<t
— -] m
— J©
L 1O
(49)
- s
B mE
-~ m  ATLAS 13
— --0O-- Herwig++ 2.7.1 default =
--13-- Herwig 7.2.1 default NS c
—  —¥— Herwig 7.2.1 softTune o =k
m mps
- —1
B ] (&)
| | | | L | | Ly | Ly | | | -

: | T T T T | T T T T | T T T T |:
- -2
1

—0.5
" | " 1 " | " 1 " 1 " 1 "

500 1000 15 0 2000

t had [G eV]

tbar{t
}

in [1160,3000] [GeV]



	Contents
	Page 1


